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QUESTION 1

Consider the following query and the resulting set of data: 

SELECT empno, lastname FROM emp WHERE empno BETWEEN `000020\\' and `000070\\' 

Result: 

If the query below is executed, how many rows will be returned? 

SELECT empno FROM emp WHERE empno > `000020\\' AND empno `000070\\' 

A. 

B. 0 

C. 1 

D. 3 

E. 5 

Correct Answer: C 

 

QUESTION 2

Which of the following is TRUE about DB2 OLAP functions? 

A. They return scalar values and not array values 

B. There are no DB2 monitor elements specific to OLAP functions 

C. OLAP functions are not supported in a common table expression (CTE) 

D. OLAP aggregation functions are not supported with column organized tables 

Correct Answer: C 

 

QUESTION 3

Given the following statement: 

DECLARE GLOBAL TEMPORARY TABLE TEMP1 ( 

ID INTEGER NOT NULL, 

ITEM CHAR(30), 

AMOUNT DECIMAL (10,2) 

ON COMMIT DELETE ROWS NOT LOGGED; 
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Which of the following statements are TRUE? (Choose two.) 

A. Temp1 table is accessed under schema SESSION 

B. Temp1 definition is available for use by other sessions 

C. At the end of a transaction, data is deleted automatically 

D. Definition of the table Temp1 is stored in database catalog 

E. Rows inserted by one session are visible in other sessions 

Correct Answer: DE 

 

QUESTION 4

A multi-partition database environment using BLU acceleration is designed to meet which of the following requirements?
(Choose two.) 

A. Easy scalability 

B. Management of very large data sets 

C. Continuously available dataset solution 

D. Increased throughput of many concurrent short running queries 

E. Faster response time of long-running or complex queries with I/O spread across many computers 

Correct Answer: BE 

 

 

QUESTION 5

Which operation typically requires a Share (S) lock? 

A. INSERT 

B. SELECT 

C. DELETE 

D. UPDATE 

Correct Answer: D 
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